Bellwork Tuesday 12/19
Solve the following equation (notes section, title it Example 5)

In (x-1)+In(x+1)=0
lc3a+ logy b :iojtt-b

Jr (-0 (%) =0
- Ini= o

LIS TN %S Ino und.

w1 = |
U

J\;{:: /X:ﬁv""—
"E(\ we -2 X

o 2
€ — Y=\
L= -




- Exy In&+42) + Wn (- = 3\n afmi

In(x—mj& ) - Ip2” o
L) In b
MK~ 2x -8)= N8

X?—2%x-%- &
T8 - g
X > _2x—llb=0

L 2rJec 55
22V 4-40) (-le) . 2x Jos =
2
2.+ {¢tg |
2 4
2t J gt V¢
2

- =3 o /
\ [~ ~-3 >< Qacc[uée/&
2k

'%‘D\Q( >
R ]h(vﬁ-’ﬂ + In s W\ = Bl/:\;_

“n C@ KEY) = ng
e u\(x?ﬂx—zyi—z\ —nE
XKY=¢/ ,,\ulﬂi bL -+ >(¢}Z\ 7&

C R G e maes
@ =2 L vL*ZO =

5 Y
)






)

2 EN
X3 |
\*\D\ :\I\Q\
_\/(Y)E*-_.‘



Chanje_ oC ba%e_ Formula
e ~ o~

—— e

,OS o = lnCL
b In b
o )03 o - lna \n%—_‘na—\nb
— 5 \n =
P(L%Q ol \_J_'—- r
2,4/?"’ ¢ N “ &:%b
& © fN\JO-F
C/\(\&\OCZ%" © )ﬂ O ‘ncovrech



